RESOLUTION NO. 2022-060

RESOLUTION OF THE TOWNSHIP OF LITTLE EGG HARBOR, COUNTY OF OCEAN, STATE OF NEW JERSEY, AUTHORIZING THE EXECUTION OF CHANGE ORDER NO. 1 TO THE CONTRACT FOR THE 2020 DRAINAGE IMPROVEMENT PROJECT WITH MNC CONCRETE LLC

WHEREAS, a contract was previously awarded to MNC Concrete LLC for the 2020 Drainage Improvement Project; and

WHEREAS, the original contract for said improvements was in the amount of \$288,124.68; and

WHEREAS, the governing body wishes to authorize Change Order No. 1, which will result in an increase of \$25,657.32 in the contract price, representing supplemental work and final as-built quantity adjustments as shown on Schedule A attached hereto and made a part hereof, which is an 8.90% increase to a new total of \$313,782.00; and

WHEREAS, this change order has been recommended by the Township Engineer; and

WHEREAS, it is the desire of the governing body to authorize the execution of this change order.

NOW, THEREFORE, BE IT RESOLVED, by the governing body of the Township of Little Egg Harbor, County of Ocean, State of New Jersey as follows:

1. That the governing body does hereby authorize the execution of Change Order No. 1, which will result in an which will result in an increase of \$25,657.32 in the contract price, representing supplemental work and final as-built quantity adjustments as shown on Schedule A attached hereto and made a part hereof, which is an 8.90% increase to a new total of \$313,782.00.

r|m|s|h|c

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A.

98 East Water Street Toms River, NJ 08753

> o: 732.363.0777 f: 732.905.6555

- 2. That the Mayor is hereby authorized to execute and the Township Clerk to attest to, respectively, an addendum to the contract with MNC Concrete LLC., in accordance with the provisions of this resolution.
- 3. That a certified copy of this resolution, together with a copy of Change Order No. 1, be forwarded to the Chief Financial Officer and MNC Concrete LLC.

CERTIFICATION

I, KELLY LETTERA, RMC, Municipal Clerk of the Township of Little Egg Harbor do hereby certify that the foregoing resolution was duly adopted by the Township of Little Egg Harbor Township Committee at a meeting held on the 13th day of January, 2022.

KELLY LETTERA, RMC

Township Clerk

Township of Little Egg Harbor

r|m|s|h|c

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A

98 East Water Street Toms River, NJ 08753

> o: 732.363.0777 f: 732.905.6555

ADDENDUM TO CONTRACT

WITNESSETH:

WHEREAS, a contract was previously awarded to MNC Concrete LLC for the 2020 Drainage Improvement Project; and

WHEREAS, the original contract for said project was in the amount of \$288,124.68; and

WHEREAS, the governing body wishes to authorize Project Change Order No.

1, which will result in an increase of \$25,657.32 to the contract price, consisting of supplemental work and as-built final quantities as set forth on Schedule A, attached hereto and made a part hereof; and

WHEREAS, this change order has been recommended by the Township Engineer and agreed to by the contractor; and

WHEREAS, this only change order totals \$25,657.32, which amount is less than 20% of the original contract awarded to the contractor.

NOW THEREFORE, be it agreed between the parties as follows:

1. The Township and the Contractor do hereby amend the original contract between the parties for the 2020 Drainage Improvement Project to provide for an increase of

rmshc

Rothstein, Mandell, Strohm Halm & Ciprian, P.A.

98 East Water Street Toms River, NJ 08753

> o: 732.363.0777 f: 732.905.6555

	100							
	\$25,657.32 to the contract price, consisting of supplemental work and as-built final							
	as set forth on Schedule A, attacl	ned hereto, to increase the original contract amount of						
	\$288,124.68 to \$313,782.00. 2. That the parties do hereby authorize the execution of this addendum.							
9	WITNESS & ATTEST:	TOWNSHIP OF LITTLE EGG HARBOR						
	5:	D.,						
1	KELLY LETTERA, RMC Township Clerk	JOHN KEHM, Mayor						
		MNC CONCRETE LLC						
		By						
	Secretary (Seal)	President						
	MSA							
rmshc othstein, Mandell, Strohm, Halm & Cipriani, P.A.								
98 East Water Street oms River, NJ 08753								
o: 732.363.0777 f: 732.905.6555	E							



December 15, 2021

VIA EMAIL AND REGULAR MAIL

Kelly Lettera, Township Clerk Township of Little Egg Harbor 665 Radio Road Little Egg Harbor, NJ 08087

Re:

T&M File No. LEHT-01893 Change Order No. 1 (Final) 2020 Drainage Improvement Project

Township of Little Egg Harbor, Ocean County, NJ

Dear Ms. Lettera:

Enclosed please find the following for the above referenced project:

 Four (4) originals of a Change Order No. 1 (Final) adjusting the contract quantities to the Contractor, MNC Concrete LLC, based on as-built quantities for the above referenced project. The contract is being increased from the original contract amount of \$288,124.68 to \$313,782.00, which is an 8.90% increase.

The enclosed document has been executed by the contractor and T&M as required. After the change order is executed, please return three (3) originals to our office for further processing. By copy I am requesting Melanie Appleby, Township Attorney prepare a resolution suitable for adoption at the next available committee meeting. I trust the above is in order and satisfactory for the Township of Little Egg Harbor to process the enclosed change order.

Should you have any questions relative to this matter, please feel free to contact me at your convenience.

JASÓN A. WORTH, P.E., P.P., C.M.E.

YOWNSHIP ENGINEER

JAW:ls **Enclosures**

Rodney Haines, Township Administrator/CFO (via email) cc: Melanie Appleby, Township Attorney (via email)

G:\Projects\LEHT\01893\Correspondence\KL_JAW_Change Order #1.docx

Project #: LEHT-01893

CHANGE ORDER NUMBER - 1 (FINAL)

Project 2020 DRAINAGE IMPROVEMENT PROJECT

Municipality TOWNSHIP OF LITTLE EGG HARBOR

County OCEAN COUNTY

Contractor MNC CONCRETE LLC

2 BEACH HAVEN WAY

WARETOWN, NJ 08758

in accordance with the project Supplementary Specification, the following are changes in the contract. Location and Reason for Change (Attach additional sheets if required)

CHANGES BASED ON AS-BUILT QUANTITIES

L	ITEM NO. AND DESCRIPTION	QUANTITY & U	JNIT	UNIT PRICE	AMOUNT
SUPP	LEMENTAL WORK				
12	12" HDPE	110	L.F.	\$55.00	\$6,050.00
17	12" INLINE CHECK VALVE (CHECKMATE ULTRAFLEX)	1	UNIT	\$6,000.00	\$6,000.00
19	18" INLINE CHECK VALVE (CHECKMATE ULTRAFLEX)	1	UNIT	\$6,500.00	\$6,500.00
24	6" X VARIABLE HEIGHT CONCRETE VERTICAL CURB	42	L.F.	\$30.00	\$1,260.00
8.8	EXCAVATION, TEST PIT	2	UNIT	\$1.00	\$2.00
B.16	CONCRETE DRIVEWAY, REINFOCRED, 6" THICK	20.22	S.Y.	\$100.00	\$2,022.00
C.6	EXCAVATION, TEST PIT	8	UNIT	\$1.00	\$8.00
¢.8	12" YARD INLET	1	UNIT	\$2,000.00	\$2,000.00
0.4	GRADING, TOPSOILING, & SEEDING	98	S.Y.	\$20.00	\$1,950.00
REDUC	CTION				
1	INLET FILTER, TYPE 2, 4'X4"	5	UNIT	\$250.00	\$1,250.00
2	BREAKAWAY BARRICADE	10	UNIT	\$1.00	\$10.00
3	CONSTRUCTION SIGNS	80	S.F.	\$1.00	\$80.00
4	DRUMS	50	UNIT	\$1.00	\$50.00
5	TRAFFIC CONES	40	UNIT	\$30.00	\$1,200.00
6	UNIFORMED LAW ENFORCEMENT OFFICER	80	HOURS	\$89.33	\$7,146.40
7	ASPHALT PRICE ADJUSTMENT	1,000	DOLLARS	\$1.00	\$1,000.00
8	FUEL PRICE ADJUSTMENT	1,000	DOLLARS	\$1.00	\$1,000.00
14	18" HDPE	111	L.F.	\$55.00	\$6,105.00
15	12° DIP	19	L.F.	\$95.00	\$1,805.00
20	INLET, TYPE 'A'	2	UNIT	\$2,888.00	\$5,776.00
21	RELOCATE SANITARY SERVICE CONNECTION	1	UNIT	\$1.00	\$1.00
22	RELOCATE WATER SERVICE CONNECTION	1	UNIT	\$1.00	\$1.00
	WATER MAIN LOOP (HORIZONTAL & VERTICAL OFFSET, LESS		114.07	#4.00	64.00
23	THAN 8" DIA, PIPE)	1	UNIT	\$1.00	\$1.00
25	6" X 6" TIMBER TIES	25	L.F.	\$30.00	\$750.00
26	BELGIAN BLOCK CURB	5	L.F.	\$30.00	\$150.00
27	CONCRETE SIDEWALK, 4" THICK	48.31	S.Y.	\$100.00	\$4,831.00
28	CONCRETE DRIVEWAY, REINFORCED, 6" THICK	34.12	S.Y.	\$100.00	\$3,412.00
A.2	BREAKAWAY BARRICADE	2	UNIT	\$1.00	\$2.00
A.3	CONSTRUCTION SIGNS	80	S.F.	\$1.00	\$80.00
A.4	DRUMS	10	UNIT	\$1.00	\$10.00
A.6	UNIFORMED LAW ENFORCEMENT OFFICER	8	HOURS	\$89.33	\$714.64
A.13	6" X VARIABLE HEIGHT CONCRETE VERTICAL CURB	10	L.F.	\$30.00	\$300.00
B.2	BREAKAWAY BARRICADE	2	UNIT	\$1.00	\$2.00
B.4	DRUMS	10	UNIT	\$1.00	\$10.00
8.6	UNIFORMED LAW ENFORCEMENT OFFICER	8	HOURS	\$89.33	\$714.64
B.13	RELOCATE SANITARY SERVICE CONNECTION	1	UNIT	\$1.00	\$1.00
8.14	RELOCATE WATER SERVICE CONNECTION	1	UNIT	\$1.00	\$1.00
B.15	WATER MAIN LOOP (HORIZONTAL & VERTICAL OFFSET, LESS THAN 8" DIA. PIPE)	1	UNIT	\$1.00	\$1.00
C.3	DRUMS	10	UNIT	\$1.00	\$10.00
Ç.7	4" PERFORATED HDPE	69	L.F.	\$40.00	\$2,760.00

Project #: LEHT-01893

CHANGE ORDER NUMBER - 1 (FINAL)

Project 2020 DRAINAGE IMPROVEMENT PROJECT

Municipality TOWNSHIP OF LITTLE EGG HARBOR

County OCEAN COUNTY

Contractor MNC CONCRETE LLC
2 BEACH HAVEN WAY
WARETOWN, NJ 08758

In accordance with the project Supplementary Specification, the following are changes in the contract. Location and Reason for Change (Attach additional sheets if required)

CHANGES BASED ON AS-BUILT QUANTITIES

1						
	ITEM NO. AND DESCRIPTION		QUANTITY & UNIT		UNIT PRICE	AMOUNT
C.9	RECONSTRUCT INLET, TYPE 'A'		1	UNIT	\$2,000.00	\$2,000.00
C.10	CONCRETE SIDEWALK, 4" THICK		7	S.Y.	\$100.00	\$700.00
EXTRA	WORK					
E-1	BRICK PAVER DRIVEWAY REPAIR -	MARYLAND RD	1	L.S.	\$4,100.00	\$4,100.00
€-2	JUNIPER DRIVE DRAINAGE EASEM	ENT REPLACEMENT	1	L.S.	\$25,440.00	\$25,440.00
E-3	-3 TWIN LAKE BLVD BELG. BLOCK CURB REPAIR		1	L.S.	\$3,400.00	\$3,400.00
E-4	E-4 ATLANTIS BLVD EASEMENT REPAIR		1	L.\$.	\$8,800.00	\$8,800.00
Amoun	t of Original Contract	\$288.124.68	Su	pplemental/E	xtra	\$67,532.00
	-	,,		duction		\$41,874.68
Adjusted Amount Based on Change \$313,782.00		Total Change			\$25,657.32	

Adjusted Amount Based on Change \$313,782.00
Orders
% Change in Contract 8.90%
[(+) Increase or (-) Decrease]

Jason A. Worth, P.E., Township Engineer

(Presiding Officer)

(Contractor)

12/15/21 (Date)

(Date)

(Date)